
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

пять дробей, порядок действий со скобками

( − ) − ( − ) =
3
2

5
1 2

2
1
2
3

3
1

(4 + ) − + 2 + =
6
1 2

2
1 2

3
1

(3 + ) − + 2 − =
6
1 2

3
2 2

2
1

( + ) + ( + ) =
2
1

5
3 2

5
1
4
3

6
1

( − ) + ( + ( ) ) =
2
3

4
1 2

5
2
3
1

6
1 2 ( + ) − ( − ( ) ) =

6
1

3
1 2

5
3
5
1

2
1 2

(4 − ) + + − 4 =
2
3 2

5
1

5
1 2 (2 + ) + + × 2 =

5
3 2

5
1

2
1 2

(4 + ) + − 2 − =
4
1 2

5
1 2

6
1

(5 + ) + − 2 − =
3
2 2

2
1 2

3
2

www.snowmath.com

https://www.snowmath.com


Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

пять дробей, порядок действий со скобками

( − ) − ( − ) = (− )
3
2

5
1 2

2
1
2
3

3
1

900
329

(4 + ) − + 2 + = = 21
6
1 2

2
1 2

3
1

36
763

36
7

(3 + ) − + 2 − = = 12
6
1 2

3
2 2

2
1

36
463

36
31

( + ) + ( + ) = = 1
2
1

5
3 2

5
1
4
3

6
1

150
209

150
59

( − ) + ( + ( ) ) = = 1
2
3

4
1 2

5
2
3
1

6
1 2

720
1229

720
509

( + ) − ( − ( ) ) =
6
1

3
1 2

5
3
5
1

2
1 2

25
7

(4 − ) + + − 4 = (− ) = (−9 )
2
3 2

5
1

5
1 2

20
187

20
7

(2 + ) + + × 2 = = 8
5
3 2

5
1

2
1 2

25
224

25
24

(4 + ) + − 2 − = = 14
4
1 2

5
1 2

6
1

240
3383

240
23

(5 + ) + − 2 − = = 27
3
2 2

2
1 2

3
2

18
503

18
17

www.snowmath.com

https://www.snowmath.com

